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$KPDG�)DGLO� ����� $QDOLVLV�.HVHVXDLDQ .DZDVDQ�.RQVHUYDVL�/DXW�GL
3HUDLUDQ�3XODX�3DVXPSDKDQ .RWD�3DGDQJ

3HQHOLWLDQ� LQL EHUWXMXDQ� XQWXN�PHQJDQDOLVLV� ��� VXEVWUDW� GDVDU� SHUDLUDQ�3XODX
3DVXPSDKDQ�� ��� MXPODK� MHQLV� GDQ� MXPODK� LQGLYLGX� LNDQ� NDUDQJ� GL� SHUDLUDQ�
3XODX� 3DVXPSDKDQ�� GDQ� ��� NHVHVXDLDQ� NDZDVDQ� NRQVHUYDVL� ODXW� GL� SHUDLUDQ�
3XODX�3DVXPSDKDQ��.RWD�3DGDQJ�

-HQLV� SHQHOLWLDQ� LQL� DGDODK� SHQHOLWLDQ� GHVNULSWLI� NXDQWLWDWLI�� 7HNQLN \DQJ
GLJXQDNDQ�DGDODK�DQDOLVLV�FLWUD GDQ�VXUYHL�ODSDQJDQ� 3RSXODVL�SDGD�SHQHOLWLDQ�
LQL� DGDODK� SHUDLUDQ� 3XODX� 3DVXPSDKDQ� GDQ� VDPSHO EHUXSD� VXEVWUDW� SHUDLUDQ��
LNDQ�NDUDQJ��NHGDODPDQ��MDUDN�NDZDVDQ�NRQVHUYDVL�WHUKDGDS�SHUPXNLPDQ�GDQ�
MDOXU� SHOD\DUDQ� NDSDO� 7HNQLN� SHQJDPELODQ� VDPSHO \DQJ� GLJXQDNDQ� DGDODK�
SXUSRVLYH� VDPSOLQJ��.ULWHULD� \DQJ� GLSLOLK� DGDODK� NHGDODPDQ� DQWDUD� ����� P�
GDQ� SHQDPSDNDQ� VXEVWUDW� GDVDU� SHUDLUDQ� EHUXSD� NDUDQJ�� VHKLQJJD� SDGD�
SHQHOLWLDQ�LQL�PXQFXO���WLWLN�VWDVLXQ�SHQJDPDWDQ�

+DVLO� SHQHOLWLDQ� LQL� \DLWX� �� ��� 6XEVWUDW� GDVDU� SHUDLUDQ� SDGD� ORNDVL� SHQHOLWLDQ�
WHUGLUL�GDUL�NDUDQJ�KLGXS������NDUDQJ�PDWL������GDQ�DELRWLN�������� -XPODK�
UDWD�UDWD�MHQLV�LNDQ�NDUDQJ�\DLWX������HNRU�GDQ�MXPODK�UDWD�UDWD�LQGLYLGX�LNDQ�
NDUDQJ��������HNRU��GDQ����+DVLO�DQDOLVLV�NHVHVXDLDQ�NDZDVDQ�NRQVHUYDVL�ODXW�
GL� SHUDLUDQ� 3XODX� 3DVXPSDKDQ� \DLWX�� D�� VDQJDW� VHVXDL�� VHOXDV� �������P�� E��
VHVXDL����������P���GDQ�F��WLGDN�VHVXDL��OXDVQ\D��������P��
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